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Study the map of Kwetu area and use it to answer
questions 1 -7

1. What is the direction of the church from the

P.H.S?

A.North East - - s
B. South East "~ \ "}
C. South West o
D. North West

2. The approximate area of the beef ranch is
A. 63km?
B. 18km?®
C. 35km?
D. 56km?

is NOT carried out in the Northern part of
Kwetu area?

A. Tourism

B. Crop farming

C. Ranching

D. Trading

4. Who among the following is incharge of
security in Kwetu area?
A. Governor: = .3 e
B. County Commissioner
C. Senator

D. Member of parliament

S. People of Tawa town MAINLY belong to
which religion?
A. Christianity =
B. Pagans |
C. Islamic
D. Traditionalist

6. Which one of the following crops can do well
in the area where there is paddy field?
A. Cotton S #
B. Tea
C. Coffee
D. Wheat

4
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3.  Which of the following economic activities_j g O

10.

11.

- 12.

The MAIN factor influencing population
distribution in Kwetu area is

A. transport

B. religious factors

C. relief

D. jobopportunities

Which of the following.groups of people
comprises of those who migrated in search
for land to cultivate ONLY?

A.Kamba, Borana, Luo

B. Abaluhya, Taita, Ameru

C. Abagusii, Baganda, Iteso

D. Maasai, Taita, Pokomo

The following are reasons why Africans
reésisted colonial rule in Kenya. Which one is

- NOT?

A . Erosion of African culture

B. Loss of independence
C. Improvement of infrastructure
D. Increase in number of landless and

squatters.

The time in Rabat 12°W is 8:12am. What is
the time in Cairo Egypt 28°E?

~A.2:40am
"B. 10:52am ...

C. 6:32am
D. 9:52am

Which of the following factors explains why

the coast of Namibia is hot and dry?

A.The existence of cold Benguela current.
B. It is found below the sea level.

C. It has been affected by deforestation.
D. It 1s caused by the shape of coastline.

Three of the following are ways of managing
slow population growth. Which ONE is not?
A. Encouraging immigration.

B. Providing family planning services.

~ C. Increasing food production.
- D. Improving medical services.
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The followinyg places arc associated with the
Which one is WRONGLY
matched with the country is found in?

early man.

A. Olduvai gorge - Tanzania
B. Ngoloba - Fanzania
C. Ismailia - Ethiopia
D.Koobifora - Kenya

In which of the statements given below is

NOT TRUE about civil marriage?

A. It can be conducted at attorney general’s
office.

B. The couple gives a three weeks notice
before the wedding

C. A marriage certificate is issued.

D. It is done according to the culture and
customs of the couple.

The following arc characteristics of a certain

climatic region.

(i) Rainfall range between 380mm to
500mm per year.

(ii) Temperatures range between 22° lo
27

(iii) The skies are generally clear.

The climatic region described above is

A. Semi-desert climate
B. Savanna climate

C. Desert climate

D. Mediterranean climate

The capital city of Angola is
A. Windhoek

B. Luanda

C. Gaborone

D. Lusaka

Three of the following are principles of

democracy. Which one is NOT?
A. Unequal opportunities

B. Equality before the law

C. Promotion of justice for all

D. Power belongs to the people

Which of the following water bodies borders
Africa to the North East?

A. Mediterranean sea

B. Atlantic ocean

C. Red seca
D. Indian ocean

19.
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Which gromp of people given below consist of
semites ONLY?

A | Hawa B. |Tigrcans
Falasha Amara
Arabs Arabs

C' H D- w
Basraseem ORI

.Useﬂznmqffw?mbdﬂwwmm
questions 20 - 23.

20.

21.

The road marked H is callled

A. Trams Afincan haphway.

B. Contonoa Gao Oudija higlreay.
C. The Great Novtlh road.

D. Trams Salaram higfwary.

Which statcanemt 15 TRUE about the region

 marked M? The

A.regrom hics within the tropacs.

B. regron cxpenieaces bot wet sumamer
and cold diry wumtters.

C. ramfzll m the region 1s cansed by the
westerles wimds.

D. temperatures are high tirosghoot the
year.
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The country marked Y was colomized by the
A. Germans
B. French

C. Italians
D. British

The tourist site marked X is
A. Kruger Natwo:i:al Park.

B. Ancient town i Marakech.
C. Cairo pyrami::s.

D. Viciona falls.

Three of the folic: xing are duties comdwcted

by the Indcpendes:: Elcctoral and Bowndirmes

Commission. Wkhich one is NOT?

A.Registerand : uintamm volcrs segster.,

B. Conduct civic education to the votars.

C. Review the eiectoral boundanes.

D. Nominate candidates to take part @
elections.

Which of the foli *wine is NOT a hsphiand
forest?

A. Cherangani fao: ost.

B. Mt. Elgon forcst.

C. Arabuko - So:. .ke forest

D. Kakamega fo:cst.

In which of the f :ilowing Natsoma) parks dio
we have a game :. :ictuary for Whinte Rhimo?
A. Lake Nakuru r:ational park.

B. Meru Nationa! park.

C. Nairobi Nationa! parik.

D. Tsavo National park.

The MAIN facter o considan whem sitanttme
a mining industry s

A. availability 0; = »wer.
B. availability o 1w matcmal
C. ncamess to ti  market

D. nearmness to b

28.
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The following characteristics fits a certain

towm i Kenya:

(@) Its groveth was influenced by the early
traders. |

(i) The main town is built on an island.

(em) It is comsidered to be a gateway 1o
Eastern Africa. '

(iw) It is a military cenire.

The town descnbad above is

A. Malim®b

B_ Kismm

C. Mombasa

D. Dar ¢s salaam

Below are factors that favour fishing in
Jagam. Which one DOES NOT?
A. Avaaliability of loan from government.

B. tegwoved fishing technology.
C. Famation of co-operatives that help in
sxsrketng,
D. Availability of many rivers and lakes.
Which river is WRONGLY matched with its
soarce? '
AR Nyando . - Mt Elgon
BR. Tarkwel - Mt.Elgon
CR._ At - - Ngong hills
DR Ewasmiymo - = Aberdare
Nowth

Below are roles of the school in the

commeamity. Which one is NOT?

A T e conmmemity donates land to the school.

B. The esembers of the community gets
canplioyment in.school.

C. The schaol belp to develop talents in the
COomnEREnYy.

D. The school belps in preservation of the
commenity calture.

Whnch of the following was NOT a
requeremment for one to he assimilated as a
fremch cifizen | West Africa?

A. Be a Chwstian

B.. Acteptt the french administration

C. Readmess to practice french way of life.
D.. Abxllitty to read and waite in English.




33. The foll'owing description fits a prominent | 37. The following are events that happened in

34.

35.

leader in Africa:

(i) Born_ in 1918

(ii) Was imprisoned at Robbens island

(iti) Became the first demacrdtfca!ly-
elected president in his country.

(iv) Died on 2013

The leader described above is

A. Kwame 'Nkrumah

B. Nelson Mandela

C. Julius Nyerere

D. Leopold Sedar Senghor

Who is the head of court system in Kenya?
A. Attorney General

B. President

C. Chief Justice

D. Director of public prosecution

Which of the fdlﬂwing_'factors negatively

" influence trade in Eastern Africa?

A. Political instability.

B. Availability of market.

C. Good transport network.

D. Production of different types of goods.

The diagram below SM the map of Ghana.
Use it to answer gquestion 36

36.

.Tamale

Which factor influencing climate makes
Accra to receive less rainfall than Axim?

. Shape of the coast line.

. Distance from the sea.

&8 O >

. Ocean currents
. Latitude *

Kenya:

(i) Kenya became a republic.

(ii) The first legco was established.

(iii) Kenya became a British colony.

(iv) Kenya was declared a British |
protectorate. |

Which is the CORRECT order from the

earliest?

A. (iii) (i) @v) ()
B. (ii) (iv) (iii) (i)
C. (iv) (ii) (iii) (i)
D.(iv) (iii) @) (i)

Use the diagram below to answer questions
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38.

39.

40.

The feature above wﬁs formeq through a

process called
A. Horst

B. Volcanicity

C. Folding
D. Faulting

Among the follo ving mountains which is
NOT an example of the feature above?

A. Ruwenzori

B. Atlas mountat

C. Danakil alps

D. Usambara

Which of the re¢
explain why Ts:
pastoralism?

A. Low populat:
B. High amount
C. Presence of :

ons below DOES NOT
:a of Botswana practice

density in the country.
~ainfall in the region.
sland in most parts of
the country.

D. Poor soil tha, 1notsupport farming.
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45.
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The founders of Old Ghana kingdom belongs
to ONE of the following language groups.
Which one? '

A. Mande speaker

B. Kwa speaker

C. Afro-Asiatic

D. West Atlantic:

Which of the following is a least import in
Kenya? |

A. Machinery

B. Petroleum products

C. Crudeoil

D. Fertiliser-

Johannesburg in South Africa has a high.

population density MAINLY because of

A.increased job opportunities to farming
activities. |

B. high and reliable rainfall.

C. improved means of transport and
-communication. _

D. mining activities which created a lot of
jobs. |

The MAIN reason why Miombo,woodland

is sparsely populated is because the

A. area is affected by floods. -

B. area has poor soils for agriculture.

C. area is infésted by the tsetse flies.

D. relief of the area do not encourage
settiement.

Which of the fnllnwing institutions controls
how the government spends its moncy?

A. Executive

B. Central Bank of Kenya

C. Parliament

D. Judiciary

46. The road sign shown below indi;ateé one of

the following. Which one?

=

A. No entry

B. Slippery road ahead
C. Do not overtake

D. A bend ahead

4°7. Who among the following persons represents

the interest of the county in parliament?
A. Governor

B. Speaker of the National Assembly.
C. Member of parliiament

D. Senator N

 48. The MAIN reason why we should conserve

wildlife is

A. for future generations

B. to earn foreign exchange

C. to encourage human wildlife conflict
D. to ensure tourists come to Kenya

49. The following statéments indicate population

structure of different countries:

(i) Majority of the population is aging.
(ii) The majority live in rural areas.
(iii) Most people work in the industries.
(iv) There is low life expectancy

(v) IHigh death rate

‘Which of the combination is common for both
Kenya and India?

A. (1) (1)) ()

B. (n) (im) (v)

C. (i).-(iv) (v)

D. (iv)(v) only

50. Among the following officers in the

government of the Nyamwezi who was
incharge of information? |

A. Mtwale B. Mtcko

C. Minule D. Kikoma
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52y

83,

54.
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The following information describes omne of

the early visitors:

(i) He owned British India mavigation
company.

(ii) He was from Scotlawd

(iii) His company administered Eaxt Africa
on behalf of British gowermment.

(iv) He was a trader

The early visitor described abowve i

A. Carl Peters -

B. William Mackinnon

C. Seyyid Said

D. Henry Morton Stanley

Three of the following are ways m whnch
citizens demonstrate patriotism EXCEFY

A. respecting other peoplcs propenty.

B. participating in Natiomal polfs.

C. paying taxes
D. sharing the smrﬂsofth:mm
foreigners

Max imported a new car from Japam. Wiatt
kind of tax will he pay at the port?

A. Income tax

B. Sales tax

C. Cess tax

D. Customs duty

Which of the following factors is the MOSY
important to consider when cstablniaey 2
poultry farm?

A. Availability of cheap kzbowr.

B. Large farm to keep the chicken.

C. Nearness to a large urbam cemfire.

D. Nearness to a source of power. |

The third line of the scoomd stemza of the
Kenyan National Anthem ts

A. With heart both strong amd trusl

B. Build this our nation togctier.

C. The hentage of splendowr
D. Service be our camest cadicwomr

56. Which of the foliowing is the MAIN benefit

37.

59.

of both Kariba and Volta river project?
A.. Indiwstrial development.

B. Imlznd transport
C. Comtrol of flooding of rivers.

D. Inmegatson of land.

The following characteristics describe a

certaim mincral. It is

(i) muimed using open casl.

(iz) mimed on the floor of the rift valley

(iiiii) msed im making heat insulators

(iw) fowmeed from remains of small living
thimes that live in waler.

The mincral described above is mined at

A. Kumwarer

B. Kanandusi

C. Athu River

D. Magad:

The MAIN reason why thec Konza - Magadi
raniway was constructed 1s to transport

A. cows from Kajiado to Mombasa.

B. soda ash to Mombasa. -

C. sisal from dry parts of Kajiado.

D. people to Magadi soda company.

Who amoag the following persons do NOT
attiemd Cabinet mectings?

A. Attomcy gencral

B. Cabinet secrctary

C. Head of civil service

D. Prmcipal secretary

Whaich of the following places is the safest for
pedicstrians to cross a busy road? At

A tie traffic lights

B. 2 zchra crossing

C. a romnd about

D. a foot bridge



PART II: RELIGIOUS EDUCATION

SECTION A:

CHRISTIAN RELIGIOUS EDUCATION

61.

62.

63.

64.

65.

66.

67.
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Among the f,el;lewmg statements, which one
shows that human beings are spee:al in
God’s creation? They were
A. settled in the garden of Eden.
B. told to multiply and fill the earth.
C. created in the image and

likeness of God.

D. told to eat fruits from other trees.

The MAIN reason why God chose to use Noah
to save his family from the great flood IS
because Noah:

A. was righteous before God.

B. was speaking with God face to face.

C. knew how to build the ark.

D. was the oldest man and wise.

The following activities shows Abraham’s

obedience to God. Which one DOES NOT?

A. Accepting toomove from his native land to
unknown place. -

B.. Accepting to sacrifice his son Ishmael

C. Circumcisingall the male in his household.

D. Accepting to sacrifice his son Isaac.

The following commandments show that God

wanted the Israelites to love him above all things.

Which one DOES NOT? |

A. Observe the sabbath day and keep it holy.

B. You should not worship any other god but
me. -

C. Do not use my name for evil purposes.

D. Do not bear ,false, witnese against someone.

What is the MAIN reason why king Pharaoh
did not want to let the Israelites go?
A. The Egyptians would lose their source of

labour.

B. They had a good relationship with the
Israelites.

C. He did not want them to die in the
wilderness. -

D. He was providing them with geed foods.

Who among the fellewmg led the lsraelltes to
the promised land? |
A. Joshua

C. Aaron

B. Moses
D Gideon

What is the MAIN reason why God rejected
king Saul?

A. He married meny wwes who wershlpped
foreign gods.

He did not obey dedﬂs eemmands

He tried to kill Devid
. He was defeated in the battlefield.

oO®
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69.

70.

71.
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~ pleased, please listen to hlm”

76.

C. -Samuel -

~Xel-F=

Who among the following was NOT a judge
in Israel?

A. Deborah B. Gideon

D. Solomon - **

‘Who among the following prophets-wes there

during the anointing of Solomon as a third king
of Israel?

A. Elyah
C Ahijah

B. Nathan
D. Samuel

“But you, Bethlehem Ephrathah, though you

‘are small among the clans of Judah, out of

you will come a ruler over Israel .........” This
prophecy was from which prophet?

A. Jeremiah B. Hosea

C. Micah ' D. Isaiah

Jesus was once a refugee in?
A. Jerusalem B. Egypt
C. Nazareth D. Samaria

Who among the following pairs were there
during the presentetlen of Jesus in the temple?
A. Simeonand Anna.

B. Elizabeth and Simeon

C. Zachariah and Anna

'D. John and James

What was the MAIN message of Jesus when
he taught his disciples the sermon on the
mount? | i Wy

A. To give them power to preach.

B. To prepare them for his second coming.
C. To teach them how to heal the sick.

D. How to live righteous lives.

What do Christians learn from the encounter
between Jesus and the peeple who breught an

~adulterous woman?

We should punish the evil daers.

We should not judge others.
We should kill those who commit adultery.

. We should forgive others.

“This is my beloved son with whom [ am well

These words
were said during?

A. Baptism of Jesus
C. The last supper

B. The transfiguration
D. The crucifixion

“Then he led them out of the city as far as

Bethany, where he raised his hands and blessed
them”. Which event is described above?

A. The day of Penteeest

B. The resurrection of Jesus

C. The ascension of Jesus

D. The arrest of Jesus
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The following are the parables of Jesus. Which
one shows the need to show concern for
others?

A. The parable of the prodigal son.

B. The parable of the widow and the judge. .

C. The parable of the good samaritan.
D. The parable of the mustard seed.

Which one of the following reasons explains
why Jesus was rejected in his home town of

- Nazareth?

A. He referred to himself as the Messiah.
B. He was a son of Joseph and Mary.

C. He referred to people as hypocrites.

D. To fulfil the prophecy of prophet Isaiah.

Which one of the following New TFestament

books is a prophetic book?
A. Revelation

B. Jude

C. Acts

D. Titus

Which one of the following statements is NOT
found in the Apostles Creed?

A. Creator of heaven and earth.

B. Lead us not into temptations.

C. He will come to judge the Iwmg and tht

dead. -
D. He descendet__l into hell.

Which one of the following is NOT a way

through which life of the unbomn is protected -

in the traditional A frican society?

A Ensuring protection uf the expectant
mother from danger. =~

B. Confining expecmnt mnthers to the
houses.

C. Providing a healﬂly diet fur expectant
mothers.

D. Avoiding overworking the expectant

mothers.

The following are reasons whjr Africans give
sacrifices and offerings to God. Which one
is NOT?

A. lIts a sign of appreciation for Gods gift
“of life. -
B. To seek God’s reconciliation and express
fellowship with Him.
C. Incase of any epidemic or when people
fall sick.
D

. Inorder for God to provide them with a
lot of wealth.

Wedding were ceremonies found in both
traditional African society and Christianity.
Which one was found in both?

A. Giving marriage certificates.

B. Cutting the wedding cake.

C. Praying for the couple.

D. Making animal sacrifices.

.
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In traditional African communities what is
the MAIN reason why ancestors are
highly respected? They

A. are the founders of a clan.

B. link the living with God.

C. 'lead people to worship.

D. pray for the living.

What is the MAIN reason why children

were considered very important in African

traditional communities?

A. They would inherit when the parents die.

B. They ensured continuity of life.

C. Inorder to take care of their parents
during old age.

D. To make the couple happy.

Which one ofthe following is the BEST way
a Christian can spend leisure time?

A. Reading the Bible

B. Attending fellowships

C. Visiting the sick

D. .Cleaning the compound

Amina is your best friend. You have just

discovered that she is keeping company of
drug addicts. As a Christian how BEST can
you help her?

- A. Report her to her parents

B. Avoid her company

C. Askher to give you some money inorder
not to report her.

D. Talk to her about the dangers of drug

abuse.

Kamau was sent to the shop by his mother.

He discovered that the shopkeeper gave him

more money as change. As a Christian what

should he do? |

A. Take the money to the children
orphanage.

B. Take the money to the church as an
offering.

C. Take the money back to the shopkeeper.

D. Buy sweets and biscuits for himself and

his friends.

‘Which one of the following is FALSE about

the early missionaries in Kenya? They

A. mainly came to spread Christianity.

B. colonised Africans. |

C. introduced formal education.

D. were sent by the church missionary
society.

Who among the following was the first
missionary in Kenya?

. Dr. Livingstone .

. Ludwig Krapf

John Rebmann

. Michael Wood
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